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INSTRUCTIONS TO CANDIDATES :

Read the following instructions before you answer the
questions. Answers are to be given in a SEPARATE OMR
ANSWER SHEET provided inside this booklet. Break the
seal and start answering the questions once asked to do so.

Please write your ROLL NUMBER very clearly (only one
digit in one block) as given in your Admission Card.

There are 90 questions in this booklet. All questions are
compulsory.

Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
alternative as shown below.

Correct Method

QJIO] IO

Wrong Method

Srjel”

. All questions carry ONE MARK each.

5. There is no negative mark. Every correct answer will be

awarded one mark.

Do not write your name on any part of the question booklet
or on the answer sheet.

Rough Work can be done in the space provided at the end
of this booklet.

The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be
noted in your seating position in the Examination Hall.

If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

Check whether the Alpha code given in the Question
Booklet and the OMR Sheet are the same.

The Question Booklet Serial Number is printed on the top
right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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There are 90 questions in all. For each question
four alternative answers are given marked as
(A), (B), (C), (D). From these, find the most
appropriate answer. The number denoting this
answer is there: in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black Ball Pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the purpose.

Directions : (Questions 1 to 5)

These questions are related with coding and
decoding.

1. If D=4 and DAL=17, then DIET=.....

be
¥ aa) 10 (Bl 35 o
2 \fpo
= 9 e o 0 5%
NI

2. If ‘LOVE’ is coded as ‘IMTC’, then ‘KIND’
in the same code is coded as :

(A) IGMC IGLC
(C) IGBL qt( IGLB
ENG+MAL

@6 90 G.oloBimmaoem allanas®. 80600
82106)@lmgo  (A), (B), (C), (D) agm’
@OSWIBOSIATI@ MLl Q@M OO
aflmo edmosiemigies. @alaldd eggQllo
@MNICWIRINOD B0} OAMAO dheN2iallSlHnid.
607 6 ) 06 O ) O1H M maud
DAMOLHSLIOMI@ @R ¢.2I03\@Tlomaan
o, @1 mmId meseml@ Qlyemo miel
@oL&l@ ®0jaf Dafl@ies IR el
oaleoilaf &H0lenis.  QOMOEBRD
@0 al®o®0 OMR 9OMOLOSLIIMI@ 2o |®o
COOUOQ|S}AM}d. Gol0a)emB@d  @SeEl
nsSOM Hud calgl@ aflemens e0od
Mo, Oad AUdssImy ealengl ®MIFLE8
MUOLIET  MSEMYM  &i0laidb@d  a8¥led
ORI Af)LIBIOID).

wldequemsd : (aldamBR 1 0O 5 Alen)

600 €.010BEIBA @00t - AfledhoWlormO]
NITWEIQ|FOIWEM.

1. D=4 9o DAL=17 ©o @M. af)s:I@d

DIET=.....
(A) 19 (B) 35
€ 39 (D) 40

2. ‘LOVE' ogm@® ‘JMTC agom’ Gdhow

6 210@dlHHIMY. 06 BesoUS@d ‘KIND'

6N CHOW 6). 21O :
(A) IGMC (B) IGLC

(C) " IGBL (D) IGLB

P.T.O.
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3. In a certain code "MANU’ is written as

AL As BV :
\,b RY “"How is ‘KUMAR’ written in the

same code ? N
e
&) OYQEV () NYQEU
(C) OYQEU (0) NYQEV
v e o~ \% 5

4. If A=1 and ANT=11420, then ADMI=....

(A) 141410 (B) 141310
(C) 14149 y) 14139
AN MG
5. If “DELHI" is coded as ‘EFMIJ’, then ‘SIMLA’
is coded as :
(A) THNMB J({) TINMB
(©) THMNB (D) TILMB

Directions : (Questions 6 to 8)

Read the following information and answer the
following questions.

‘P+Q" means ‘P is the daughter of Q'.
‘Px Q" means ‘P is the son of Q’.
‘P—Q’ means ‘P is the wife of Q'.
‘7‘;{\ ‘;\\(b\r\tL)
6. If AxB—Cisgiven, which of
following is true ?

the

(A) +C is the wife of B
.(B‘)/ C is the father of A
(C)+ A is the daughter of B
(D) «+B is the father of A

ENG+MAL

MAT Cc

3. &) (uemys smHoasld, ‘MANU’ ng)mu)“
af)@ @ N DM@ ‘QERY’ ag)amoem.
)@ nem esoalladd ‘KUMAR' ag)soe®

ag)¥i®io ?
(A) OYQEV (B) NYQEU
(C) OYQEU (D) NYQEV

4. A=1go0 ANT=11420 go @@6. ag)@I@;

ADMI=....
(A) 141410 (B) 141310
(C) 14149 (D) 14139
5. ‘DELHI' e® ‘EFMIJ’ agn GO

ool0edlenym). ag@lad mem dl@ioicd
‘SIMLA’ @800 6.2100®@)

(A)
©)

THNMB (B) TJNMB

THMNB (D) TJLMB
wldeguem® : (6alorieBd 6 @@ 8 AIOn)

a0loswigs aflalessd @emimMdle] @arigies
G2 I0BIMBRINS HEMDO 0G)PIBd:.

P+Q’ agymoad ‘P @oem Q allom o’
PxQ’ agymomd ‘P @oem Q afled mdhd’.
P—Q’ agmo@ ‘P @oen Q aflod@ oy’

6. AXB-C o mariginenssicd onaies
605 MEldlen MA@ tdlewae ?
(A) C woem' B @ie)s oy
(B) C woem’ A @pers @rgjmd
(C) A woem B @es adtd

(D) B @oem A es @o.glmd
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Q
J N
T O
T—-SxB—M is given, then which of the

following is not true ?

m- B is the mother of S
ﬁ) M is the husband of B
(C) +S is the daughter of B
(D) T is the wife of S
o v"/ 0§3 30 O
If ZxT SXU+P is given, then what is the
relation of U to Z ?
(A) Mother
(C) Father

VQB{ Grandmother
(D) Grandfather

Directions : ( Questions 9 to 11)

Read the information given below and answer the
questions from 9 to 11.

@)

Abi is older than Bala.

)
X
Cibi is elder than Abi but younger than Dali.

(i) Dali is elder than Bala. Q 5 L
&,

(iv) Bala is younger than Cibi. (b"‘)
(v) Ediis the eldest.
9.  Who is the second eldest one ?

(A) Dali (B) Bala

(C) Abi JP) Cibi
10. Who is the youngest ?

(A) Dali (B) Abi

(C) Cibi (P) Bala
ENG+MAL

MAT

C
T-SxB-M agyom” mamlgiens’. ag)®a@d
2)ales ®milgiesalalc wdlwgoame
@ ?
(A) B @oem'S &R @oon
(B)
©
(D)

M @pen) B @es cd@mont
S @6 B @i6)s alj(@l
T @em S 6 @)

ZxT—-SxU+P oariigiens. agyelad, Uallo
Z MOWIBR eNITWo ag)m ?
(B)

(D) @qfa|md

(A) @oom

(©)

@ONION
@100, (7

mdEGeBM : (6.0106 6BW I a)m@d 11 AIe®)

2)jalnswies allalesemales @eslmnomesa
9 @@ 11 AUHOWIBR G2l0B|EBRRIOS DM

QG)$I® >

(i)

10.

@oenfla6)’ NIORICQHNIUD

BSIMEIENT.

(oo

mlenfles) @oen/leenod (alo@oyens’.
ag)0mOEd, AoLlEWBNHIWD (OO dh )OI,

aoelwe@s)  MIORIGRENID  (alO®o
BHISIBEIO6).

moei@es mlenflo@enod (alo®@o
BOQ06I).

ag)floem el (I0MEs @M.
(alo@amimual o)’ (0@ BHES ML ER
©EN30DMEOD®T) @DUWD @D ?

(A) awoell (B) eruoel

(C) @oendl (D) milenfl

QRROIe (0o BHIOMHE @DOIEN) ?
(A) awoell (B) @mnenll
(©) milendl (D) enuoel

R.T.0.
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11.  Agewise who is in the middle ?

(A) Dali (B) Bala
fgz) Abi (D) Cibi

Directions : (Questions 12 to 16)

Study the following figure carefully and answer
the given questions.

Actors

Keralites

12. Which region represents singers who are
neither Keralites nor actors ?

(A) 4 (Bj=5

(©F 5 vaafv

13. Which region represents Keralite actors who
are singers ?

(‘%5 (B) 4

<€ 3 (D);52

14. Which region denotes Keralite actors who are
not singers ?

(A) 5 (B) 4
© 3

ENG+MAL

11. (ooamimadle msialld aleym®

@ooem ?
(A) awoell (B) eruo&l
(C) @oend (D) adlenl

MdEGUEBX : (6.210B46BMD 12 @)m@d 16 aen)

2ljAIOs®as afl®o alClal 2lj0lesWiss
@2I0B)IBRIOS HEMAO af)PIMId>.

@A EMD®ILOUD

CHhORHEOD

12. GHOKSNICOD @EIGMMILNESO @0LIODID
1051060 M2l fleaim @dwo ag®moem ?

(A) 4 (B) 3
© 6 (D) 7

13. al0g)H000® | BHOBLHOMIW
@Elemmoseneg myallafllenom @owo
a@®oem ?
(A) 5 (B) 4
<€ 3 (D) %2

14. al0gh0RLomm BHAYHNODOW

@Elem®osneng myallaflenim @dwo

a@®oemy’ ?
(A) 5 (B) 4
© 3 (D) 2
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15. Which region represents Keralite singers who

are not actors ?

MAT

(A) 4 (B)si o

) 6 (D) 7

16. Which region represents actors who are

neither singers nor Keralites

(A) =2 J/B)/

©) o (D)

Directions : (Questions 17 to 19 )

When the words are arranged in alphabetical order

which one comes first ?
17. (A) Wrinkle (B)

(C) Waste oy

18. (A) Great /m
9 Grdase @5

19. (A) Pldne (B)

(C) Player D)

ENG+MAL

?

3

7

Wasp

War |

Greet

Grind

Pla\in

Place

15;

16.

Cc

@EIEMMOLHBLL OO BHOBHHOVO®
10518060 M2 flaflaniom @dto apy@mosy ?

(A) 4 B 5

C) 6 (D) 7

al0g)dH0BM0  GHORSNIEO  @OLOEYD
apdlem®moeneng qvallaflenim e@dowo
ag@oem ?

m1dEEUETRMD : (@193 17 2)@@ 19 AIe®)

QOB b UD @OHHU DL (8> 0 V0| @D
(B DlBleeemIod @ayo QUEM® agy® ?

17:

18.

194

(A) Wrinkle (B) Wasp
(C) Waste (D) War

(A) Great (B) Greet
(C) Grease (D) Grind
(A) Plane (B) Plain
(C) Player (D) Place

P.1.0.



Class - VIl

Directions : (Questions 20 to 24)

The first two words indicate a certain relationship.
Pick out the suitable word from the choices given
which indicates the same relationship with the

third word.

20.

27

22.

23.

24.

Water : Oxygen : : Salt : ?

(A) Magnesium (B) Vitamin

(E)/ Sodium (D) Taste
Rectangle : Diagonal : : Circle : ?

(A) Radius (B) Perimeter
(C) Area (P) Diameter
Mars : Earth : : Neptune : ?

(8Y Uranus (B) Pluto

(C) Moon (D) Mercury
Distance : Metre : : Weight : ?

(A) Gram (B) Kilogram

(C) Pound (D) Quintal

Joule : Energy : : Pascal : ?
(A) Volume (B) Density

(C) +Purity (D) Pressure

ENG+MAL

MAT c

m1BdegUemG : (€.01066B¢ 20 @)@ @D 24 alen)

@OEIOEH @6 QOHNHD B0 (IETYH
D ROED6 R @ <] qua o m @181 @
NIMWO|S@EHIM]. BIMOBHED QIOHSOM
@me®m GepoooeR  @oslauooMmorse
SRIMWER|SIAMOM aRRAII0 @OMIEWORIDOW
QUOHE) ODOEETTTNS)IHE .

20. o8R0 : BomMilRMm :: oaf: ?
(A)  eauimlayo (B) eecgald

(C)  emoulwo (D) mjod

21. almyoo : Allésdemo : : lyemo @ ?
(A) @0 (B) augaol
(C) angjaal (D) aJyoavo

22. a0 : &l :: emalsye : ?
(A) @oommy (B) gdieso

(C) almm (D)  enugwad

23. @)oo : algd :: @O : ?
(A) (©o0 (B) leeiomoo

(C) alvens (D)  &flopad

24. WA : 9OdRo : : AlOMIHODD : ?
(A) osasal (B) mvomm

©) wirvm (D) adco
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Directions : (Questions 25 to 29)

Find the missing number in the number series.

94—%,}-!17
26% 19,2758 s

v ®

(&) 90 (B)

/L -
“ Q) 136 D)

Vo
%)

M W
27. 17, 4398

(A) 7 (B)

of s o

]

F 23 o 'l/o
280 49,1939

@ 79 (B)
(C) 80 (D)

29. 1,9,25.49, 81 ...

a/\' M & A

(A) 100 (B)

(C)ig2l (D)
ENG+MAL

38

40

127

243

81

112

144

MAT C

m1BeEUETRG : (€.219B6MRGb 25 Mm@ 29 AUO®)

moeldewemiaiea  allgjealo®  qosyy
dHE)ENBOB) .

25. 6,113, 21, 30, 00
(A) 37 (B) 38

(C) 39 (D) 40

2615 00781
(A) 90 (B) 127

(C) 136 (D) 243

27.7 1731379 508
(A) 7 (B) 6
© 5 (D) 4
285 4,10 49RS0" .
(A) 79 (B) 78

(C) 80 (D) 81

29, 1,9, 25, 49181, .../
(A) 100 (B) 112
(Q)Bii121 (D) 144

P.T.O.
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Directions : (Questions 30 to 34)
Find the missing term.
ok e (g K
30. D8T,G12Q,J16 N,M12
(A) N20J (B) M20L

(C) P20K J(ztj M 20 K

31. AYD, BXF, CWH, V9

(A) DUJ B) DV]
(C) EV] (D) DUK
4 e
32 _i%&bE@IS 16,).L.2°%
(AY 72122 (B) 36120
RO T T 20 (D) 36722

q© R
33. CK, Fj, LY

(A) 7 A H

(C) MH (D) MJ

[ o
344 CD, FGH, JKLM, 9PR% UvWXYZ
(A) NOPQ (B) OPQR
\(9)/ OPQRS (D) NOPQR

ENG+MAL

MAT

mideguemBed : (e_q_loaésumﬁ 30 @@ @d 34 aen)

10

fl5)8al0® alBo dh6)ENBEMIL.

30.

31.

32,

a3.

34.

DB T C15.0:016 N

(A) N20]J (B M20L
(C) P20K (D) M20K
AYD, BXF, CWH, .......

(A) DUJ () DV]
(C) EVJ (D) DUK
RCIDG T 17a8G 16, ..

(A) 72122 (B) 36120
©)F 72120 (D) 36722
CEI

(A) 1 (B)::LH
(©) MH (D) M]

CD, FGH, JKLM, .......... , UVWXYZ
(A) NOPQ (B) OPQR

(C) OPQRS (D) NOPQR

Cc
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Directions : (Questions 35 to 38)

In questions 35 to 38 which set of letters when
sequentially placed at the gaps in the given series
shall complete it ?

35. Qb{bc#aqahﬁﬁpca

(A) abbac _BJ  abcbb
(C) bbbcc (D) bacba
O

36. abcabcabcgba

/(43L/) acac (B) acbc
(€) aacc (D) aacb
pahCA
37. qrpﬂq_-;pl:{qr PP
(#) prep o4 74 E%)/Prpq
(©) gqrqq (D) rrpq
38. pappepparpa P
(A)  paprq QG\O\V (B) ppqp

(©) qgpp

y) pPaqp

Directions : (Questions 39 to 45)

Choose the word which is not like the other words
in the group.

39. (A) Triangle (B) Rectangle
(C) Square (D) Diagonal

40. (A) Football (B) Volleyball
(C) Chess (D) Cricket

ENG+MAL

MAT Cc

mldegEMRM : (82103 emB0d 35 M@ 38 AUO)

35 )o@ 38 oo 6oI0G)EBEIG oR®
@OHUOETBWRD (HOEHI@ AflFealo® BIMEM]
QAIMO@ @ auyeM all®emmodsio ?

35. _bc_ca_aba c_ca

(A) abbac (B) abcbb

(C) bbbce (D) bacba
36. _bc_b_abc_ba

(A) acac (B) acbc

(C) aacc (D) aacb
37. qrp_q_ppqr_p-Tpp

(A) prpp (B) prpq

(©) grqq (D) rrpq
38. _qpp_PpP_PP9q-

(A) pqpq (B) ppap

(©) agpp (D) pagp

mIREGEIBU : (@.2196 608G 39 @)@} 45 AUON)

amidlenmaui@ oo &i5eElddeq]soem®
&6 ENBOTD >

39. (A) (@es06mo (B) aumo
(C) ma.aImiro (D) alledemo
40. (A) aniSeenuomd (B) @cuogleeniowd
(C) e.um (D)  (@eeg

P.T.0.
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41. (A) Thoothukudi
(B) Mysore
(€) Cochin
(D) Vishakapattanam
42. (A) Lion (B)
(C) Horse (D)
43. ' (A) Think (B)
(CY See (D)
44. (A) Gangtok (B)
(C) Madurai (D)

45.

(A) January ")\
(€) July AN\

(®)
)

MAT

41.
Tiger 42,
Giraffe
Taste 43.
Smell
Bhuvaneswar 44,
Mumbai
May M\ 45.
November

Directions : (Questions 46 and 47)

Which answer figure completes the blank region ?

46.

M

T

lb

\

__.?7

Answer figures :

o~

et

(A)

ENG+MAL

12

46.

(A)
©

®mmlgies
alAEEHHM HEmE 2l(@aas af® emo

9alewodilando ?

ONOQEIEZNE]
eI

0.

afluosualgemo

mfloado
O

aflalomo

£H06M b

NO0UIBSIH

DWIE

2madl
R66L

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

HS)QU

210%a0’

ayal

memo

@JUBMUR)d
DJoe6en
({1

maJosrud

mldeguemmd : (6.010B6BWD 46 B)®@ 47 AUO®)

emoe{;m’lael a¥lenm @doWo

I

R

|l

?

OO0 2fl(®etRAd :

T__>

L

(A)

(B)

©)

(D)
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o
<l

Answer figures :

nell I

(4) (B)

47.

O

©

ja

48. How many cubes are there in the figure ?

(A) 9 ®) 12
\(9/ 10 (D) 8

Directions : (Questions 49 to 51)

Which one of the figures does not belong to the
group ?

49.

O
A

AO

CA
(D)

AO
(A)

(B)

MAT

©)

ENG+MAL

13

47.

48.

7
Q

OO ofl(@E0d

0|9

(A) (B)

O

i

A

©

O

(D)

LN@ET@R 0g)@ VD2UGYO MI®OBEIBUD
o6ng ?

(A) 9 (B) 12

(C)EEL0 (D) 8
MIACFUETBA : (€.21936IBM 49 @)@ 51 AUO®)

omilgies 2l(@eaEl® 5i3ewlahe oSO @
QRO®M HEEMBEM: ?

49. AQIEIO
A
AO OA
(A) (B) ©) (D)
P.T.O.
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Re0Zlem=lol«le
(4) ®ds . © (D) @) ER. ©)
51. 51.
B\ b e @
(A) B) () (D) (A) (B) ©) (D)

Directions : (Questions 52 to 55)
Read the information given and answer the
questions given below.

Raj, Saj, Taj, Vaj and Yaj are sitting in a row not
necessarily in this order. Also Saj is between Yaj

m1BEEUEMRMD : (62103 6IBUD 52 @@ 55 aer)
2es m@slolgies alaeesd aodlal
amqlendgs] aaIesSas GaldB)BSIeS
HOMOO ) PIE.

@0, mogd, 0%, o, o ag)MIId &W}
- U@ edenim). EESHME 00 (EHAEIES

and Taj and Saj is to the right of Taj. Vaj isbetweenif!‘i HeMeamm’ MIdenImualg]. HiSIO® mogg

Raj and Yaj. B0 o\ ‘40?5 AleOIM@ ogglmio Soglnio EDSWHHIEM.
w(,@_5():3?@) \f&\ Qo@aL MO Ol IME® usoa@’lor@
N 505 QURI®OIEm@oeN. (0 e0dlaaiM® @dmyo
<0 @ogdlio eNSWdn06Ny.
52. Who is sitting in the last position ? 52. Q@ @oaimomadldlenima @ooen) ?
(A) Saj (B) /Vaj (A) oogg (B) «uozd
(©) Yaj DY Taj (C) oogg (D) so&
53. Who is sitting in the second position from the | 53. @s#n@@@ alom Eens0a®O®) EDAlBOME@Y
starting ? @OOoEM 7
(A) Saj \M/ Vaj (A) ogg (B) cuogd
(C)e= Xy (D) Taj (C) oz D) som
54. Who is in the middle ? 54. QWIRINAD EOALHIME @D ?
(A) Saj (B) Taj (A) ooz (B) sogd
(Qf;aj (D) Vaj (C) wozd (D) uogd
55. Who is sitting in the first position ? 55. dlol@ aoaie ondlenimae aroosm ?
_(A) Raj (B) Vaj (A) @ogd (B) cuom
(€) Yaj (D) Saj (€) wox (D) ovog  ~
ENG+MAL 14
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Directions : ( Questions 56 and 57)

You are given a figure (X) followed by 4 alternative
figures (A), (B), (C) and (D) such that figure (X) is
embedded in one of them. Find it from the 4 figures.

56.

57.

58.

B

[
AR
WL
T |

T

(B)

(D)

fig. (X)

SERIE

(A) (B) (%]

P

(D)

A square paper is folded in a particular
manner and a hole is made by using a punch.
When unfolded the paper appears as shown
below :

O

o}
O

o
Find the manner in which paper is folded

© 00 O

from the alternatives.

(o]

0]
© D

(A) (B)

ENG+MAL
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56.

Cc

M REqUETRG : (6.219BJ6TRM 56 B}®@ 57 AUO®)
MetrdHe 80) 2fli@o (X) @arildleaniomy. aysdary
4 @omentaw afl@esRud MBI, enalw@,
80} afl@edd ao@o (X) 2l@o aljdepaod
OREIAOTISIENE. @D HONBOT.

D74

58.

afl@o (X)
e NS
! £ | B Liad] r_[]
(A) (B) ©) (D)
afl@o (X)
alERIGEIR
(A) (B) ©) (D)

680}, M2 10060 |ad 6o} Iemys: dlailisd
as#Hsfl. msdoy Galald aleml Oalewouslal
80} 6oaals). salqd dladeslweq]ond
aIEl.e) MM 2AIOS EOSIBTICISOITY.

G BITe
o e
I o)
gyt
ag) 81 @ ag) (alHOEmIem’ Gala]d

DSHF WO 2IJAUOS 6)dHIS )BTl 86))-
MA@ flaTy HeeNBEM k.

T I e 5l R D24

(A) (B) (©) (D)

P.1.0.
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Directions : (Questions 59 and 60)
Four different positions obtained while throwing a

dice are given below.
(ii) (iii)

) Wh1ch number is on the face opp051te to6?
G G B 2
y TE): 3 (D) 4
/
60. Which number is on the face opposite to 2 ?
(A) (B)ge
5 (DY I
Directions : (Questions 61 and 62)

These questions are related to ranking/order.

61. Lee ranks sixth from the top and twenty fifth
from the bottom in a class. How many
students are there in the class ?

(A) 29 8 30
(SRS (D)p 32

62. Ris is thirteenth from right in a row of 40
students. What is his position from the left
end ?

(A) 25th (B) 26th
(©) 27th Py 2sth
R
ENG+MAL . 6 =5
N2

<~

MAT
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Cc

MIBEGREBM : (6.0106 6MRGD 59 ;O 60 AUO)
80} OOWM agdlermea]od el€lal moal
Q@ qUNOMETBEI6M 213QIeS
mca%ceﬂmﬂ(é]mgmm”

PR (iv)

59; 6 og)(m GUOG)JJCQJ&G)S alaldl® @360
QUM Vo) a@® ?
(A) 1 (B) 2
(C 3 (D) 4

60. 2 oM Moalj@iens ANlalGl® M6

QUM MVoEUER® ?
(A) 3
© 5

(B)e=d
(D) 1

MIBCGETBD : (€.210B60BW 61 @@ 62 AUO®)
€00 G2l0BIETBW O0Wlo6s [ (@Mo ag)M@IBOWS
MO S®OEN).

61. efl 8m gopflad ayel@ aflomy @ROIB®o
®oe® oM HEYAIET] @OERUODMIDIEN.
G)BI@, @ GO @OODH ag)®
BHGlmgiens ?
(A) 29
(C) 31

(B) 30
(D) 32
62. dlmfle munomo 8oy AUBIWIE alel sy afloy
al®llaimon® @em. 0 AUBRI@® @6
40 dhigletd 96mE. ag®I@, s® mlomias
muodmMo ag)(® ?

(A) 25 -00 muoomo (B)
(C) 27 -00 qunomo (D)

26 -0o (ruNoOMo
28 -20 (runoMo
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Directions : (Questions 63 to 67)

The diagram given below shows the number of
students who got A grade in three subjects in a

school. Study the diagram and answer the

following questions.

alayalam
&N
&

English Hindi

63. How many students got A grade in English
and Malayalam only ?

(A) 11 o) 12

[G): 13 (D) 23

64. How many students got A grade in Hindi

only ?
(A) 65 (B) 61
(C) 63 B) 50

65. How many students got A grade in all the
three subjects ?

(A) 15 (B) 13

(@)Fi12 ﬂ’/) 11

66. How many students got A grade in English

only ?
( 47 (B) 59
[E)FiEH3 (D) 60

ENG+MAL

MAT Cc

Md3EBW : (@.21066MBGD 63 B} 67 AUOH®)

aNOed 80y MUdiglon &iglaaladd mymm’
Aot eBREs A BOW al@la] &Hi5eHa1e0s
ag)ep@oem madHlDldlenymal. afli@o aldlaf
21010SWISS G2 I0BIETRRIOS OO0 af)PIMid:.

o

e

63. snogfladimyo @RIOSmTMIc M@0 A GUW
UOSTEI ag)(@® BiGlmalens ?

(A) 11 (B) 12
(D) 23

snogflad Yelle€]

(C) 513

64. a0lF@D @O0 A GO BMSI® ag)®
dhiSldhalens ?

(A) 65 (B) 61
(C) 63 (D) 50

65. oM Qlla¥@eETBRHN0 A GO BIEl 2] ag)®
BSlhalens ? \

(A) 15
(Chad2

(B) 13
(D) 11

66. o@lal@ @o(@o A g eMSI® ag)(®

Gl e ?
(A) 47 (B) 59
(C) 58 (D) 60

P.T.O.
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67. How many students got A grade in | 67. WO oI ofﬂﬁﬂmﬂﬁgof\@[wﬂﬁﬁmé]@
Malayalam and Hindi only ? Af® dglrglens ?

J
B): .13
= A) 11 (B) 13 (A) 11 (B)
Pl (@) 15 (D) 26 (C) 15 (D) 26
Directions : (Questions 68 to 73) mldeguemad : (€.210a 6mBG 68 2@ 73 AIO®)
Read the questions and find out the answers. 21J016S OB AN 62 I0G|EBUd aoeflof
@IS OO0 HOENSOD ).

68. On selling 17 footballs at Rs. 720, there is a | 68. 17 anjSeemiogdhtd 720 ojal@ssy allgag odd
loss equal to the cost of 5 footballs. Then the 5 aniS GENIOSIHRIOS WLNOdMA Qlleiide]
cost price of a football is : @EUBOW BIBHDIOS MariSDen30wS. ag)el@

A 80} anjsemIoglennd WLNoA®O flel ag)® ?
A “ (A) Rs.45 (B) Rs. 55 (A) Rs. 45 (B). Rs..55
o 8
(C) Rs. 60 (D) - Rs. 50 46 Rs. 60 (D) Rs. 50

69. A rectangular floor 3.78 m long and 525 m | 69. 21®E0HEDEREs B0} ®OWOS (igo
wide is to be paved exactly with square tiles, 3.78 dgd @wen. sl aflefl 5.25 algd
all of the same size. What is the largest size 9o @pem. oald eco alellgjorales
of the tile which could be used for the MVD.2IMI0 OOSENBWD @O aldodhemo.
purpose ? }°  0almod) Hale@oudlenonimm Al

/\45‘" XY eesellen alomoaiul aflgo ag)@® ?
(A) 14 cm. @) 2 em D (A) 14 om.d. B) 21 eav.d.
(C)e-<42icm (D)::481 com. 6,’1? (C) 42 e.al. (D) 31 eav.ail.
x
:\? ¥ /Z . Ann does a work in 10 days and Bann does | 70. @0 6@} ¢zoell 10 UM 61:06NE 6.2 1Q@Y
on /2fl  the same work in 15 days. In how many ®dsH0. rU0Md snem emoell 15 dlaimo
days they together will do the same work ? OHOMBIEM O 2IQYIM®@. He® emoel
5 @6N3)8alMY0 ISl BMAlL] 6.21QImTd ag)®
5/n ; ;
y ~ %, Glaimo oenE 6010 afldsnio ?
(y (A) 5 days (y{ 6 days (A) 5 dlaumvemB@®  (B) 6 dlcuqustegd
/L (O 8days (D) 9 days (C) 8 dlumems®d (D) 9 dlaumvensd
o 0P
ENG+MAL 18 A 2
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71. The average of 10 numbers is 7. If each | 71. 10 MOEUIHRIOS (DEOE] 7 @M. &06MO

number is multiplied by 12, then the average 4 Moale@®io 12 adoens niemlglomd

of new set of numbers is : {‘% eIl MVOBYHRINS NOONG! ag)® ?

(B (B)f519 (A7 (B) 19

(€ 82 {5) 84 (©)82 (D) 84

72. Consider 3 digit natural numbers. The middle | 72,  @omee ag)s@ VoEBHID aldlnEmlhe)d.
digit is always zero and the sum of 3 digits is OO OW) @sHo allRiQlo @M
A\ always 5. How many such 3 digit numbers @OHOETBRIOS @dh f)RI0WBQ[0¥i0 5 Qo
\ OX are there ? @M. HEMOOTILIER af)(® dIMES
1031 0‘17 Vo6 ene ?
o
% L0 (A) 3 (B)e v (A) 3 (B) 4
@ 5 (D) 6 (€)"5 (D) 6
7.3 If‘C’( % of a number is 12 less than 50% of | 73, 80} MoAWIOS 35% ag)M® @OE®
that number, then the number is : g TMUOBU@IOS 50% CAMENOWD 12 B3OS,
‘7.['4\4)( P ag)@I@d o6y :
N sl P
80 P i ,j,,A (A) 80 (B) 60
(©) 50 (D) 40 JieB ey 50 (D) 40

Directions : ( Questions 74 to 81 )

In each figure a number is missing. Find the correct

missing number if the numbers follow a pattern.

"9/( 44,
‘%63 )

MIREGUEIBR : (€.210B60BU 74 a)®@d 81 AUO®)
21QA1OSWIBs 60600 all@Eilejo 80 Mosl
allgieatoaflgiens. v Moald:d 80y aloegend
Mfl&ale03My ag@ldd, allgiealo@ o6l
dH6)6TBOYD) Y.

EW A Nl
X
\\"0 () 24 ,)/o;b (B) 24
€ 18 ){, A VV (C)18 (D) 9
ENG+MAL o e q/\n/\ ¢ 19 P.T.O.
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75. 75.
(A) 13 (B) 12 (B) 12
2 11 (D) 10 (D) 10
+7)/)}?‘% . Fgg}\ Mu’)
76.2 ¢ 8/ \4 v b A . 5 8
5 8 7 %ﬁ 5 8 7
u() 50 (B) 21 (A) 50 (B) 721
(©) el (D) 55 & (C) 61 (D) 55
o Q‘J/ﬂf
2 nx ~ /‘:"‘
\..o0 LI ¥
/1/ 1)
77 |21 516 1% \;//\‘L \/ 77. 4”:j£ill°
M@z 3.7\ :;‘\\by 2517 | 20
LR B \a,\ﬂ)/f(‘ Vsl s s | 247 a‘b\ 6
p\ N N = £ N %
Al s i L5 w21 08] 7 2
A M gto 9 ® 73 ﬂf{}/vl ﬁ(A) 16 By i3
N (S 76 94 N £
g R (C) 76 D) 94
0 ~\¢ L\}
78, | aliatlig *\) 78l T
5184\ A o i
M]7]7? Tl )
A6 (B) 7 (A) 6 (B) 7
< 8 D) 9 © 8 (D)2
oy 4 L 5o
79. [alDqup 7 Qy 79. [a{D]|H
N)) (6 VT
G| F |1 [M] 2% FITM
v\ v
RN ,b« K[NT?
g B TR (4), D ®) P
\ © R MW (D) Q @ R (D) Q
‘)/j\ v, 8 % )
20

ENG+MAL™,
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Class — VIl (0% % S % MARE A
BB D DD E
AR YD
(G Lo (B) 18 (A) 16 (B) 18
o (D). 22 (© 20 (D)7
y
N4% N
60«0 |99 |n& [72]0e 60 99 72 |
7 0f12| [18]11] |2 ]9 e BT B s R A | 7 9 |
By 2ot Te S0 (A) 20 (B) 16
o~

Directions : (Questions 82 to 86)

There is a particular relationship between the first
two figures. Identify this relationship and use this
to find out the missing figure from the answer
figures.

82. Problem figures :

2 e
@ 3@r)

Answer figures :

=2

<

| L1

(A) B} © (D)
83. Problem figures :

Q Of[a 8] Ha].[t O

C. S LEO= RS | @5
Answer figures :

O gL e Of 1O O

€ N EIPASP] A TN C

) (B © (D)

ENG+MAL

mIdegwemmd : (8.l 6m3M 82 @)@ 86 AUO®)
@DROOD o) (@B ®adld B0} (IGEYH
enimwaens. 607 eniawo am@ilandgsil allgiealow
afl@o agmoeemmm’ oeme afl(@smgld allom’
6)6TBOYD) >

82. (JUdM afl@ensnd :
f‘\ . L =
CREE G-l 2
PIQOIESITOIE I
| U (1Y [EA
(A) (B) © (D)
83. anJUé'm all»essdd :
O OlA Sl » |-[t O
cio|o Oflt - lkle A
OOMO 2 fl(®6vRUD :
OCTrTi|lec||eO||0DO
C\ Cliel DIEATE| AT EAEAN G
)% B &) (D)
21 e1.OC
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84. Problem figures :

MAT

:

1

&

84. (ol afl@metBd :

:

Dl

Answer figures :

oom0 2@ :

*~J

A

(B)

85. Problem figures :

©

(D)

(A)

(B)

85. (M of(@evBdd :

VA

VA

A

AN

Answer figures :

oo 2@

VY

/

N

W

/|

YA (B) © (D)
86. Problem figures :
AN ?

Answer figures :

A0 afl®evsd :

(A) (B) ©) (D)
86. (IO afl@®6TRMD :
A\ |4 ?

d

S

g

S

o [

(A)

ENG+MAL

(B)

R
>

P)

M A M YA A M

1

(A)
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Directions : (Questions 87 and 88)

How many triangles are there in the figure ?

R

(A) 4
<€) 6 (D) 27
89. By looking ina mirror, it appears that the time
is 5.30 in the clock. What is the real time ?
2 o
'\\ o |
‘/’J)/“( 6.30 (B) 5.30
L Q) 36:00 (D) 5.00
90. Which of the following is the correct mirror
image of ‘"MALAYALAM'?
(A( MALAYALAM
(B MAJAYAIAM
(©) WVYIVAVIVW
(D) MATAYATrAM
-00o0-
ENG+MAL

MAT
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Cc

M1dEEUEBA : (€-21066MBM 87 @)@ @ 88 AUO®)
ai@eEd o) ® @lemoememnid o ?

5

i,

87.

(B) 6
(D) 10

88.

=

® 5
(D) 7

[o)}

©)

80} BRgMmETI@ eMISsWEg odd 80}
ehosslen  mawmo 530 agmMoem’
HOEMOSD. CoHsflonl WLOOBMO MDWo
af)(@@o|@leengo ?
(A) 6.30
(C) 6.00

89.

5:30
5.00

(B)
(D)
90. ~213QIOS O 0S5 O] @B He MU S| @,

‘MALAYALAM ofm  alosslon
Ao Bdaem (Laflendloenio agymoem ?

(A)
B)
C)
D)

MALAYALAM
(B) MAJAYAJIAM
(C) WVIFVAVIVW
(D) MATAYATAM

-00o0-




